SSC Stenographer 6th Feb 2019 Shift-Il

Reasoning

Instructions
For the following questions answer them individually

Question 1

Find the missing term in the given analogous pair.
2:12,5:122::4:252,7:.......

A 120

B 320

C 340

D 250
Answer: C

Question 2

Select the option that Is related to the fourth term In the same way as the first term is related to the
second term. 213 : 7 :: .... :8

A 343

B 512

C 340

D 509
Answer: C

Question 3

Select the correct set of symbols which will fit in the given equation?
8039=35

D x,+,X

Answer: B

Question 4

The statements below are followed by two conclusions labeled | and Il. Assuming that the information in
the statements is true, even if it appears to be at variance with generally established facts, decide which
conclusion(s) logically and definitely follow(s) from the information given in the statements.

Statements:

Some fans are radio.

All fans are light.

Conclusion I: Some radios are light.

Conclusion II: Some lights are radio.



A Either conclusion | or conclusion Il follows.
B Only conclusion Il follows.
C Only conclusion | follows.

D Both conclusions | and Il follow.

Answer: D

Question 5

Manish is facing South. He took 90° right and walked 8 km, then he turn right and walked 6 km. What is
the minimum distance between starting point to ending point?

A 11km

B 10 km

C 15km

D 13km
Answer: B

Question 6

Select the correct option that will come next in the following series.

R AR

hA

F = 12 [«

Answer: A



Question 7

Which Venn diagram best represents the given set of classes?
Iran. Tehran. France

O o

: QQO

Answer: A

Question 8

Find the missing term to complete the given series.
MOGC, LPC, KQD, ?, ISE

A JRD
B IRD
C ISD
D JSD
Answer: A
Question 9

Select the Venn diagram that best represents the given set of classes.
Fishes, Whales, Crocodiles

. OO



Answer: A

Question 10

Select the option that is related to the third term in the same way as the second term is related to the
first term.
JOCKY : PKCX]J : BHAJI : ?

A ICIAH
B ICAIH
C ICAHI

D CAIHI

Answer: C

Question 11

Find the missing number from the below options.
18 12 21 9

17 9 12 14
31 8 ? 34

D 7

Answer: A



Question 12

Which two signs should be interchanged, as given in the options. to make the following equation correct?
7T+3—-4+6x2=20

A —and+
B + and x
C —+and-—
D -+ andXx
Answer: D
Question 13
If 'A' is replaced by '+': if 'B' is replaced by '—'; 'C' is replaced by '+'; and 'D' replaced by 'Xx’, find the

value of the following equation.
15A 22 B 42 C 21D 27

A 17

B 65

c 27

D -17
Answer: D

Question 14

Identify the odd one from the given groups of letters.

A FZ

B BVH

C FPE

D BDA
Answer: B

Question 15

Find the missing letter to complete the given series.

DJ, H?, LF, PD

A |

B D

C F

D H

Answer: D



Question 16

Select the option that is related to the figure 'C' in the same way as the figure 'B' is related to the figure
IAI

=J

DD

Answer: C

Question 17

Select the option that is related to the third term in the same way as the second term is related to the
first term.
Attractive : Appealing : : Gifted : ?

A Reward

B Talented
C Deprived
D Dejected

Answer: B



Question 18

Select the option in which the given figure is embedded.

Answer: C

Question 19

Select the option that is related to the fourth term in the same way as the first term is related to the
second term.
El: VR::?:PN

A KM
B OT
C M™MT
D NT

Answer: A



Question 20

Select the correct option that will fill in the blank and complete the series.
PLT, ..., PLTy, PsLT, PLeT

A PLTy

B PLsT

C PLs3T

D PL>T
Answer: B

Question 21

Select the correct option that will fill in the blank and complete the series.
3, 5, 11, 21, 35, ...., 75.

A 63

B 73

C 43

D 53
Answer: D

Question 22

Four numbers have been given out of which three are alike in some manner, while the fourth one is
different. Choose out the odd one.

A 135

B 108

Cc 172

D 153
Answer: C

Question 23

Bromine is related to Halogen in the same way as Krypton is related to

A Inert Gas
B Radioactive element
C Metal

D Gas

Answer: A



Question 24

The statements below are followed by four conclusions labeled 1, 2, 3 and 4. Assuming that the
information in the 4 statements is true, even if it appears to be at variance with generally established
facts, decide which conclusion(s) logically and definitely follow(s) from the information given in the
statements.

Statements:

I. No lion is herbivore.

Il. All herbivores are mammals.

Conclusions:

1) No lion is mammal.

2) No mammal is lion.

3) Some mammals are herbivores.

4) All the mammals are herbivores.

A Only (3) and (4) follow
B Only (3) follows
C Only (1) and (3) follow

D Only (2) and (4) follow

Answer: B

Question 25

A, B, C, D, E, F, G, and H are sitting in a circle in the same order for lunch at equal distance. Their
positions are 5 clockwise. If C sits in the east, then what will be the position of B?

A South
B North-East
C East

D South-East

Answer: B

Question 26

Select the answer figure that most closely resembles the mirror image of the given combination.

X
LETTERS E
Y
A SHELTA]
B SYELT3I

c 2HITT3d



p <¢AELTA]

Answer: C

Question 27

Four pairs of words have been given, out of which three are alike in some manner, while one is different.
Choose out the odd one.

A Deer: Doe
B Cow : Calf
C Ant: Queen

D Cock: Hen

Answer: B
Question 28
Select the correct option that will fill in the blank and complete the series.
9, 22, 48, 87, ......
A 129
B 99
C 139
D 119
Answer: C
Question 29

In a Automobile showroom on a Diwali mela, seven Two-wheeler of seven different companies viz. Hero,
Honda, TVS, 9 Vespa, Yamaha, Bajaj and Suzuki were displayed in a row, facing east such that:

1. Hero vehicle was to the immediate right of Suzuki.

2. Suzuki was fourth to the right of TVS.

3. Vespa vehicle was between Honda and Bajaj

4. TVS, which was third to the left of Honda vehicle, was at one of the ends.

Which vehicle is immediate left of Suzuki?

A Bajaj

B Honda

C TVS

D Vespa
Answer: B

Question 30

Four words have been given out of which three are alike in some manner, while one is different. Choose
the odd one.



A windows
B Motherboard

C Joystick

D Keyboard

Answer: A

Question 31

Observe the above figures which shows the process of cutting a drawing paper: Identify the resultant of
it from the following options.

~ /A
A A
= /3
AT A
C
\/
D
Y,
Answer: B
Question 32
Find the missing number.
1 3 5 35
24 6 ?
A 45
B 54
C 65
D 56

Answer: D



Question 33

In morning after sunrise a boy rode his bicycle 4 km towards the north. Then he took right turn and rode
6 km. Then he took left iurn and rode 5 km to reach his school. In which direction the school is with
respect to the stalling point?

A North-East
B North-West
C South-East

D South-West

Answer: A

Question 34

Select the option that is related to the third term in the same way as the second term is related to the
first term.
13:156::21:?

A 420
B 210
C 441

D 375

Answer: A

Question 35

Select the correct option that will fill in the blank and complete the series.
1,5,2,6,3,7,4, .......

A 9
B 8
C 12

D 6

Answer: B

Question 36

Find the missing term to complete the given pattern.
DPJ, LJK, FL?

A Y



Answer: C

Question 37

If 'A' is replaced by '+'; if 'B' is replaced by '—'; 'C' is replaced by '+'; and 'D' replaced by ' X', find the
value of the following equation.
17D22C11A5B38

A 41

B 31

C 65

D 55
Answer: B

Question 38

Four words have been given out of which three are alike in some manner, while one is different. Choose
the odd one.

A Utterly
B Acutely
C mildly

D immensely

Answer: C

Question 39

Select the correct option that will fill in the blank and complete the series.
Z,Y,W,T,PK,.......

A F

B E

C D

D G
Answer: B

Question 40

In a certain code. HYMN is written as 8745. How will BOOK be written in that code?

A 2515511

B 4171713

C 2151511



D 2662

Answer: D

Question 41
In a certain code, CREAM is written as ETGCO. How will MADRAS be written in that code?

A OCTFCU
B OCTFTU
C OCFTUC
D OCFTCU
Answer: D
Question 42

Ina certain code, RAINIER is written as 7195259. How will POEM be written in that code?

A 1651351

B 7654

C 7554

D 20181914
Answer: B

Question 43

Five children sat for an aptitude test.

In the result report, it was noted that child A scored less marks than child B. Child C scored less marks
than child D. Child B scored less marks than child C and child A scored more marls than the child E.
Question:

If the children are arranged in ascending order as per their marks then which child will be second from
the left?

A A

B C

C D

D B
Answer: A

Question 44

Select the correct option that will fill in the blank and complete the series.
11, 22, 35, 50, ?

A 67



B 65
c 61

D 63

Answer: A

Question 45

Select the option that is related to the third term in the same way as the second term is related to the
first term.

2:27 ::4: ...

A 315

B 153

C 351

D 125
Answer: D

Question 46

In a code language. TRUCE is written as SSTDD, and SLICE is written as RMHDD. How will CLASH be
written in that code language?

A EMBTI

B EKBRI

C BKZRG

D BMZTG
Answer: D

Question 47

Rahnl was looking for his coach. He went 80 in in the east before turning to his right. He went 10 m
before turning to his right again and then went 20 m away from that point. From there he went 90 in to
the with before meeting his coach in a ground. What was the smallest distance between the starting
point and the position of his coach?

A 100m

B 120m

C 140 m

D 210m
Answer: A

Question 48

Four pairs of words have been given. out of which three are alike in some manner, while one is different.
Choose out the odd one.



A TEMPLE : PRIEST
B HOSPITAL : DOCTOR
C SCHOOL : STUDENT

D COURT : JUDGE

Answer: C

Question 49

Select the correct option that will fill in the blank and complete the series.
2,4, 16, 22, ..... 186.

A 267
B 176
C 167

D 276

Answer: B

Question 50

Select the correct option that will fill in the blank and complete the series.
HKN, LMO, POP, ......

A TOO
B TQQ
C TRR

D TPP

Answer: B

General knowledge

Instructions
For the following questions answer them individually

Question 51

For transferring heat, which of these would be an ideal material?

A Steel Rod
B Woolen Thread
C Water

D Wwooden Plank



Answer: A

Question 52
In Oct 2018. HRD ministry launched a scheme known as SPARC. What is the full form of SAPARC?

A Scheme for Advanced Pathology Research collaboration
B Scheme for Promotion of Atmospheric Research collaboration
C Scheme for Promotion of Academic and Research Collaboration

D Social Atmospheric Pollution and Research council

Answer: C

Question 53

Who is the chairman of the Jury for Tagore award for cultural harmony 2016?

A Asha Bhonsle
B Narendra Modi
C Snuiti lrani

D Mukesh Ambani

Answer: B

Question 54

The Tagore Award for Cultural Harmony for the years 2014, 2015 and 2016 were announced on Oct 2018.
Who won the award for 2016?

A Ram Kumar Varma
B Ramchanclra Saaar
C Ram Singh

D Ram Vanji Sutar

Answer: D

Question 55

Recently Indian Air Force launched an innovative mobile health App named

A Healthall
B MedWatch
C Healthair

D Airhealth



Answer: B

Question 56

2018 vigilance awareness week was observed from ........

A 29th Oct - 37 Nov
B Aug 20 - Aug 25
C Nov1-Novb6

D Sep3-Sep8

Answer: A

Question 57

The ........ were the first Europeans to come to India.

A French
B Portuguese
C Dutch

D English

Answer: B

Question 58

Name the Strait that separates India and its neighbor SriLanka.

A Mannar Strait
B Palk Strait
C Malacca Strait

D Cook Strait

Answer: B

Question 59

Who is the Minister in charge of Union Ministry for Earth Sciences?

A Jual Orana
B Anant Geetee
C Dr. Harsh Vardhan

D Narendra Modi

Answer: C



Question 60

Who is the Scottish economist and political philosopher who published a massive three volume work "A
history of British India"?

A Clive Lloyd
B Williamson
C James Anderson

D James Mill

Answer: D

Question 61

Who is the very first Mughal emperor?

A Alam Khan
B Babur
C Mohammed

D Akbar

Answer: B

Question 62

During Mughal period rank and salary were determined by a numerical value called .......

A Zalam

B Zor

C Zadu

D Zat
Answer: D

Question 63

Which among. the followina is not a Good conductor of electricity?

A Bromine

B Copper
C Silver
D Graphite

Answer: A



Question 64

During Mughal period a royal edict or order was known by what name?

A ]hola
B Takat
C Farman

D Tika

Answer: C

Question 65

In which year was the Battle of Buxar?

A 1792

B 1764

C 1804

D 1881
Answer: B

Question 66

Plants with weak sterns that cannot stand upright and spread on the ground are called .........

A Creepers
B Shrubs
C Trees

D Climbers

Answer: A

Question 67

Who became the first Governor General of India in 1773?

A Richardson
B Warren Hastings
C Dalhousie

D Clement Atlee

Answer: B

Question 68

Which of the following does not have a fibrous root?



A Onion
B Rice

C Beetroot

D Maize

Answer: C

Question 69

Name the Indian company which first touched a market capitalization of 8 trillion INR. in the Indian stock
market.

A Tata Consultancy Services
B HDFC
C Reliance Industries

D I0CL

Answer: C

Question 70

In 2018 who became the first Sports Ambassador of Assam State?

A Maly Korn
B Hima Sharma
C PTUsha

D Hima Das

Answer: D

Question 71

What was the Gross Domestic Product of India in 2017-18 at current prices?

A X 157.73 lakh crore
B 3 147.73 lakh crore
C <X 137.73 lakh crore

D <X 167.73 lakh crore

Answer: D

Question 72

In Oct 2018 who retired as the 45" Chief Justice of India?

A Dipak Misra



B Deepak Gupta
C Chelameswar

D Ranjan Gogoi

Answer: A

Question 73

In Oct 2018. India successfully conducted the night trial of the indigenously developed nuclear capable
ballistic missile.
What is the name of the missile?

A Mahilal

B Adbutl

C Aayogan |

D Agni-|
Answer: D

Question 74

In a landmark verdict, who said that "horrendous acts of mobocracy"” cannot be allowed to overrun the
law of the land?

A Dipak Misra
B Suresh Kumar
C Indu Malhotra

D Krishna iyer

Answer: A
Question 75
Which of the following is celebrated as United Nations day?
A 15" November
B 5t june
C 24" October

D 2" Qctober

Answer: C

Question 76

Which of the following crops is not a source of vegetable oil?



A Wheat
B Mustard

C Sesame

D Olive

Answer: A

Question 77

Chhayanaut, the origination that won the Tagore Award for cultural harmony for 2014 is from which
place?

A Nepal
B Bhutan
C Bangladesh

D India

Answer: C

Question 78

Name the union territory which is composed entirely of islands.

A Puducherry
B Lakshadweep
C Daman and Diu

D Dadra and Nagar Haveli

Answer: B

Question 79

Where is Manas National Park located in India?

A Rajasthan
B Madhya Pradesh
C Assam

D Himachal Pradesh

Answer: C

Question 80

Name the simple device that is used to either break the electric circuit or to complete it.

A Resistor



B Transistor
C Switch

D Fuse

Answer: C

Question 81

How litany double century stand does Virat Kohli and Rohit Sharma have in ODIs as on 23"¢ Oct 2018?

A 9

B 5

Cc 3

D 1
Answer: B

Question 82

How many ODI centuries does Virat Kohli has in his credit as on 23"¢ Oct 2018?

A 36

B 25

c 27

D 28
Answer: A

Question 83

What was the theme of this 2018 vigilance awareness week?

A Corruption Free India
B Eradicate corruption- Build a new India
C Vigilant India

D Free India Free Corruption

Answer: B

Question 84

Lynx, a species of wild cat is found in which State of India?

A Telanaana
B West Bengal

C Maharashtra



p Jammu and Kashmir

Answer: D

Question 85

What is the maximum cost of project admissible under business/service sector in the Prime Minister's
Employment Generation Programme (PMEGP)?

A 10 lakh
B <X 15 lakh
C X 25lakh
D <X 20 lakh

Answer: A
Question 86

On the basis of which phenomenon does the Jet Engine work?

A Conservation of Velocity
B Conservation of Linear Momentum
C Conservation of Circular Momentum

D Conservation of Acceleration

Answer: B

Question 87

How many ODI centuries does Rohit Sharma has in his credit as on 23"¢ Oct 2018?

A 20

B 15

C 4

D 11
Answer: A

Question 88

World polio day is observed across the world on which day?

A October 24th
B Feb 14th

C March 19t"



p Jan 237

Answer: A

Question 89

In 2018 India successfully conducted the night trial of the indigenously developed nuclear capable
ballistic missile. In which place it was conducted?

A Lakshwadeep
B Goa
C Madippakkam

D Odisha

Answer: D

Question 90

Who is the present Vice-Chairman of Niti Aayog?

A Dr. Rajiv Kumar
B Shaktikanta Das
C Dr. Urjit R. Patel

D Arvind Subramanian

Answer: A

Question 91

Small bead like structures inside the ovary of flower are called .........

A Stamen

B Sepals

C Petals

D Ovules
Answer: D

Question 92

What is the amount of Minimum Support price for maize per quintal announced by the Government for
the 2018-19 season?

A 1800
B X1900
C 1700

D <1600



Answer: C

Question 93

Which among the following is produced using 'Haber Process'?

A Carbon Dioxide
B Ammonia
C Sulphur di oxide

D Ozone

Answer: B

Question 94

'What is Nashik's position in Swachh Survekshan Grameen 2018 among 'maximum citizen participation in
districts' category?

A 3

B 1

C 5

D 4
Answer: B

Question 95

Who presented Khayyam the 2018 Hridaynath award for Life time achievement?

A Sachin Tendulkar
B Lata Mangeshkar
C Devendra Fadnavis

D Amitabh Bachchan

Answer: C

Question 96

Who was the first scientist to be awarded two Nobel Prizes?

A Albert Einstein
B Thomas Edition
C Marie Curie

D Frank Templeton

Answer: C



Question 97

The Tagore Award for Cultural Harmony for the years 2014, 2015 and 2016 were announced on Oct 2018.
Who won this award for 2015?

A Chhayanaut
B Saheli
C Shobita

D Benglasadan

Answer: A

Question 98

Which among the following insects has a pigment called luciferin?

A Redly

B Firefly

C Butterfly

D Nightfly
Answer: B

Question 99

The world's longest sandstone cave has been discovered in Menhalaya. What is the name of that
sandstone cave?

A Krem Puri
B Krem Kiran
C Prem Kuri

D Prem Puri

Answer: A

Question 100

Hridaynath award for Life time achievement carries a cash prize of ..........

A X 500000
B 99999

C <X 100000
D X 250000

Answer: C



English
Instructions
For the following questions answer them individually
Question 101

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
The scientific theories of space are too intricate that only few people comprehend them.

A sointricate that only a few people
B No improvement
C as intricate that only few people

D so intricate as only the few people

Answer: A

Question 102

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
Hardly had | arrive at the station than the train Came.

A No improvement
B No sooner did
C Assoon as

D Scarcely had

Answer: B

Instructions
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

The first murder ever (1)..... in the United States occurred in September 1630, shortly after the Pilgrims arrived in
Massachusetts. John Billington was the father of two sons, (2)..... the first to settle in the new Plymouth Colony near
what is today Boston, and one of the people who signed the Mayflower Compact and he was also the colony's first
murderer. Billington, in fact, was the first person to commit any (3)...... in the colony, as far as we know today. He was
also the first to be executed by the state in the New World. Billington's crime was to (4)...... a man named John
Newcomen, for reasons which are lost to history. But Billington's problems had not begun on the soil of North America.
He and his sons had nearly caused a mutiny aboard the Mayflower (5)..... the arduous trip across the ocean. One of his
sons, in fact, (6)..... his gun aboard the Mayflower near an open keg of gunpowder! The flash from the gun could easily
have ignited the powder, which would (7).... have sunk the ship. Once in Plymouth Colony, Billington's behavior did not
improve. He (8)........ to serve any form of military duty under the leadership of Miles Standish, a duty that was seen by
the colonists as part of every man's responsibilities in the New World. He was later guilty in a plot to overthrow the
entire leadership of Plymouth Colony, (9)....... a lack of evidence prompted the town's leaders to let him go free. In the
end, Billington's rebellious and angry nature caught up with him. He was found (10)........ of the murder of John
Newcomen, and died in disgrace on the gallows.



Question 103

Select the most appropriate option to fill blank no 1.

A occurred
B constructed
C committed

D created

Answer: C

Question 104

Select the most appropriate option to fill blank no 2.

A none of

B oneof

C anyof

D some of
Answer: B

Question 105

Select the most appropriate option to fill blank no 3.

A mistake
B crime
C problem

D mischief

Answer: B

Question 106

Select the most appropriate option to fill blank no 4.

A shoot

B injure

C hurt

D wound
Answer: A

Question 107

Select the most appropriate option to fill blank no 5.



A beneath

B during

C  across

D besides
Answer: B

Question 108

Select the most appropriate option to fill blank no 6.

A threw

B flung

C shot

D fired
Answer: D

Question 109

Select the most appropriate option to fill blank no 7.

A frankly

B probably

C truthfully

D unlikely
Answer: B

Question 110

Select the most appropriate option to fill blank no 8.

A accepted
B requested
C refused

D rejected

Answer: C

Question 111

Select the most appropriate option to fill blank no 9.



A hence
B therefore

C put

and
Answer: C

Question 112

Select the most appropriate option to fill blank no 10.

A unhappy
B quilty
C sorrowful

D shameful

Answer: B

Instructions
For the following questions answer them individually

Question 113

Select the correct active form of the given sentence.
Who is making this chaos?

A Who has been made this chaos?
B By whom has this chaos been made?
C By whom this chaos is being made?

D By whom is this chaos being made?

Answer: D

Question 114

What is an antonym of the word
'belittle’

A Demean
B Humiliate
C Extol

D Deprecate

Answer: C

Question 115

Select the most appropriate option to fill in the blanks.
Rohan was ......... from appearing. in the examination.



A debarred
B restricted

C  panned
D rusticated

Answer: A

Question 116

Select the correct passive form of the given sentence.
We should avoid excess use of mobile in order to have a peaceful life.

A Excess use of mobile should be avoided by us in order to have a peaceful life.
B Excess use of mobile had been avoided by us in order to have peaceful life.
C Excess use of mobile should be avoiding by us in order to have a peaceful life.

D Excess use of mobile should have been avoided by us in order to have a peaceful life.

Answer: A

Question 117

Identify the segment in the sentence which contains the grammatical error.
Pride leads to destruction of the growth of an individual and creates a vacuum devoiding of genuine
relationships.

A Pride leads to destruction
B devoiding of
C and creates the vacuum

D of an individual

Answer: B

Question 118

Select the correct passive form of the given sentence.
You were responsible to prepare food at twelve O'clock.

A It was your responsibility to prepare food at twelve O'clock.
B The food was responsible to be prepared by you at twelve O'clock.
C The food is to be prepared responsibly by you at twelve O'clock.

D Preparing food at twelve O'clock has been your responsibility.

Answer: A



Question 119

Identify the segment in the sentence which contains the grammatical error.
The common advice that the doctor offers to patient is to take preventive measures such as proper
intake of Water, hygienic food habit, and regular exercise.

A that the doctor

and regular exercise

C such as proper intake of

D to patientis to

Answer: D

Question 120

Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
A. A three- year old boy disappeared from home.

B. When found, he was sleeping on the bench.

C. Someone left the gate open and he wandered out.

D. He crossed the road and went into the park.

A ABDC

B ACDB

C ADBC

D ACBD
Answer: B

Question 121

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".

I Am Malala is an international Booker Prize bestseller that has been translated into more than 12
languages.

A had been translated
B will translate
C s translated

D No improvement

Answer: D

Question 122

Select the most appropriate meaning of the underlined idiom in the given sentence.
The problem of global warming has become a hard nut to crack for the world.

A a frivolous problem tie

B a tough challenge



C a democratic problem

D a futuristic target

Answer: B

Question 123

What is an antonym of the word ‘profusion?

A Scarcity
B Abundance
C Confusion

D Distraction

Answer: A

Instructions
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.

Once people wore garlic around their necks to ward off disease. Today, most Americans would (1)...... at the idea of
wearing a necklace of garlic cloves to enhance their well-being. (2).......... , you might find a number of Americans
willing to ingest capsules of pulverized garlic or other herbal supplements in the name of health. Complementary and
alternative medicine, which includes a range of practices outside of conventional medicine such as herbs, homeopathy,
massage therapy, yoga, and acupuncture, hold increasing (3)....... for Americans. In fact, (4)...... one estimate, 42% of
Americans have used alternative therapies. In all age groups, the use of unconventional healthcare practices has
steadily (5)....... in the last 30 years, and the trend is likely to continue, although people born before 1945 are the least
likely to turn to these therapies. Why have so many patients (6)......... to alternative therapies? Many are frustrated by
the time constraints of managed care and alienated by (7)........ medicine's focus on technology. Others feel that a
(8)....... approach to healthcare better reflects their beliefs and values. Others seek therapies that relieve symptoms
(9)........ with chronic disease; symptoms that mainstream medicine cannot treat. Some alternative therapies have
even crossed the line (10)......... mainstream medicine, as scientific investigation has confirmed their safety and
efficacy. For example, physicians may currently prescribe acupuncture for pain management or to control the nausea
associated with chemotherapy. Additionally, many U.S. medical schools teach courses in alternative therapies, and
many health insurance companies offer some alternative medicine benefits.

Question 124

Select the most appropriate option to fill blank no 1.

A scoff
B dislike
C enjoy

D appreciate

Answer: A

Question 125

Select the most appropriate option to fill blank no 2.

A However



Moreover

B

C And

D Despite
Answer: A

Question 126

Select the most appropriate option to fill blank no 3.

A health
B appeal
C percentage

D fitness

Answer: B

Question 127

Select the most appropriate option to fill blank no 4.

A according to
B in orderto
C in addition to

D with a view to

Answer: A

Question 128

Select the most appropriate option to fill blank no 5.

A generated
B increased
C created

D decreased

Answer: B

Question 129

Select the most appropriate option to fill blank no 6.

A disliked



turned

B

C liked

D accepted
Answer: B

Question 130

Select the most appropriate option to fill blank no 7.

A Homeopathic
B Conventional
C Alternative

D therapeutic

Answer: B

Question 131

Select the most appropriate option to fill blank no 8.

A exclusive
B harmful
C holistic

D collective

Answer: C

Question 132

Select the most appropriate option to fill blank no 9.

A associated

B unrelated

C joined
D tied
Answer: A

Question 133

Select the most appropriate option to fill blank no 10.

A onto

B in

C under



D into

Answer: D

Instructions
For the following questions answer them individually

Question 134

Select the most appropriate meaning of the underlined idiom in the given sentence.
To dwell in an argument with a foolish person is like beating the air.

A 'significant efforts’
B ‘fruitful work'
C 'useless tasks'

D 'breathing in the air'

Answer: C

Question 135

Select the correct passive form of the given sentence.
Newton discovered the law of gravity.

A Newton had discovered the law of gravity.
B Newton was discovered by the law of gravity.
C The law of gravity discovered Newton.

D The law of gravity was discovered by Newton.

Answer: D

Question 136

Select the correct indirect form of the given sentence.
The teacher said. "What a sad incident it is!"

A The teacher told that it was a sad incident.
B The teacher said that it was a sad incident.
C The teacher exclaimed with sorrow that it was a sad incident.

D The teacher agreed that it was a sad incident.

Answer: C

Question 137

Identify the segment in the sentence which contains the grammatical error.
The manager along with his colleagues are preparing for the annual report to be submitted at the end of
the financial year.

A attheend



B of the financial year.

C are preparing

D along with his colleagues

Answer: C

Question 138

Select the correct direct form of the given sentence.
Rakesh asked me. "Did you see the football match on TV last night?"

A Rakesh asked me whether | had seen the football match on TV last night.
B Rakesh asked me did | see the football match on TV last night.
C Rakesh asked me whether | had seen the football match on TV the earlier night.

D Rakesh asked me whether | saw the football match on TV the earlier night.

Answer: C

Question 139

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
Despite the bike was costly, she bought it.

A However
B In Spite of
C No improvement

D Though

Answer: D

Instructions

Read the following passage and answer the questions.

Passage:

In spite of rigorous precautions against accidents, many people are injured every year in factories and elsewhere. In
addition, some people are born with physical disabilities. They are either blind or deaf or in some way deformed form
birth. Up to quite recent times, little planned action was taken to fit handicapped people for employment. A number of
charitable organizations tried to help them in cases of hardship; but few seriously held the idea that these people
might still have abilities in other directions. Only during the last few decades has society slowly come to acknowledge
its responsibilities and to recognize that handicapped people can be trained to play a useful part in economic as well
as social life. The 24 world war gave impetus to this. During the 1939-45 war, pressure of resources of labour
compelled all fighting nations to call on the services of handicapped people for tasks adapted to and within the limits
of their capacities. A man might have lost the use of his legs, but still be able to use his hands with skill. Another
person might have lost his sight, but still be capable of training in ways in which his other senses could be employed
effectively in furtherance of the war effort. In recent years, scientific inventions and discoveries have lessened the
disabilities of deafness, some form of paralysis and other physical handicap. Scientists working in association with
engineers have devised methods by which handicapped can take up work again, thanks to the inventions of
mechanical limbs, the improvements of hearing aids and so on.

Question 140

What is the motive of the writer in the present passage?



D

The writer suggests that physically handicapped people have turned into burden to the society.
The writer shows how charitable trusts are transforming the lives of physically handicapped people.

The writer wants to indicate that physically if handicapped people are being incorporated in the mainstream of the
society.

The writer proves that the mindset of common people is biased against physically handicapped people.

Answer: C

Question 141

Based on your reading of the passage, identify the correct sentence from the given options:

A

Number of charitable organizations neglected the idea of supporting handicapped people.
According to charitable organizations, handicapped people are better suited for employment.
For the betterment of differently-abled people, many charitable organizations gathered support from other NGOs. |

Initially, very few people believed in the idea that handicapped people have abilities that can be channelized in
different directions.

Answer: D

Question 142

Which factor compelled all fighting nations to utilize the services of physically handicapped people
during 1939-45 war?

A

C

D

Capabilities of handicapped people
Shortage of other resources
Political pressure of other nations

Financial benefit

Answer: B

Question 143

Which of the physical impairments are improved by recent scientific inventions and discoveries?

A

Physical weakness and speech
Color blindness and Hearing impairment
Hearing impairment and Physical weakness

Vision impairment and Physical weakness

Answer: C



Question 144

Based on your reading of the passa2e, identify the correct sentence from the given options.

During war, the service of physically handicapped people was utilized keeping in mind their alternative skills within
the limit of their capacities.

B Scientists and doctors work collaboratively to support the people with physical impairments.

C Scientists alone have found ways to enable physically handicapped people to work as normal people.

D During war, physically handicapped people played a major role in the victory of specific nations.

Answer: A

Instructions
For the following questions answer them individually

Question 145

Identify the sepnent in the sentence which contains the grammatical error.
They are going to build a new bridge in the river, if they can find the money in the next budget.

A are going
B find the money
C bridge in the river.

D next budget.

Answer: C

Question 146

........... of his life was spent in jail as he was caught in a heinous crime.

A The remainder
B The leftover
C Thelast

D The remnants

Answer: A

Question 147

Select the correct indirect form of the given sentence.
Mohit asked Rita, "Did you ever sit in a plane before?"

A Mohit asked Rita if she had sat in a plane last year.
B Mohit asked Rita when she had sat in a plane before.
C Mohit asked Rita why she had sat in a plane earlier.

D Mohit asked Rita whether she had sat in a plane before.

Answer: D



Question 148

Select the correct direct form of the given sentence.
Ritesh said to Meet, "When do you intend to return my bike you borrowed from me"?

A  Ritesh enquired of Meet when he intended to return the bike he had borrowed from him.

B Ritesh enquired when Meet intended to return the bike he had borrowed from him.
C Ritesh enquired to Meet when did he intend to return the bike he borrowed from him.

D Ritesh enquired Meet when did he intend to return the bike he had borrowed from him.

Answer: A

Question 149

Identify the segment in the sentence which contains the grammatical error.
Every day | go to school in a bus but today | went by foot because the bus operators are on strike.

A to schoolin a bus
B | went by foot
C Every day

D bus operators are on strike

Answer: B

Question 150

Select the most appropriate option to fill in the blanks.
Because its easier to eat on the go, ...... on burgers rather than healthy food has become a practice
among teenagers.

A snacking

B swallowing

C gobbling
D absorbing
Answer: A

Question 151

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
The Ganga is holiest river in India.

A the holiest
B the most holiest
C No improvement

D the holy



Answer: A

Question 152

Select the most appropriate synonym of the word 'Cordial’.

A Brilliant

B Amicable

C Moderate

D Wonderful
Answer: B

Question 153

Select the correct direct form of the given sentence.
The principal said to the student. "Why were you absent in the examination yesterday"

A The principal asked the student why had he been absent in the examination the previous day.
B The principal asked the student why he had been absent in the examination the previous day.
C The principal informed the student why he had been absent in the examination the previous day.

D The principal asked the student why he had been absent in the examination the next day.

Answer: B

Question 154

Select the correct active form of the given sentence.
I promise to furnish all the documents required for the assignment.

A It was promised by me to furnish all the documents required for the assignment.
B It has been promised by me to all the documents required for the assignment.
C Itis promised by me to furnish all the documents required for the assignment.

D | have promised to furnish all the documents required for the assignment.

Answer: C

Question 155

Identify the segment in the sentence which contains the grammatical error.
Ramesh is very much sorry about the financial loss that he inflicted upon his close friend while working
together on the same project.

A that he inflicted upon
B while working together
C on the same project.

D Ramesh is very much sorry



Answer: D

Question 156

Select the most appropriate option to fill in the blanks.
The new teacher ........ emphasis on overall development rather than only on academics.

A realized

B arranged
C laid

D released

Answer: C

Question 157

What is an antonym of the word
'foremost'

A First
B Passionate
C Unimportant

D Mature

Answer: C

Question 158

Select the correct passive form of the given sentence.
My students greet me with a smile every morning.

A Every morning | was greeted with a smile by my students.
B | am greeted with a smile by my students every morning.
C | am being meted with a smile by my students every morning.

D With a smile greeting is done by my students every morning to me.

Answer: B

Instructions
Read the following passage and answer the questions.

Rabindranath Tagore in his essay, Svadeshee Samaaj written in 1904, pointed out a concrete way for the
reorganization of Indian society on the basis of self-help. He wrote about issues like peasants' cooperatives, revival of
cottage industries, social reforms, Hindu-Muslim unity and rural development, and came up with ideas which were
much ahead of his time. Soon after, Tagore prepared a draft, meant for private circulation, for establishing a society,
based on democratic principles, and run entirely by the manpower and resources of the country. It was an amazing
document which shows that he was not only a great visionary, but also had the makings of a great leader. In his vision



of Indian history, politics was at no point of time recognized as the core of Indian life and culture. In Indian history, the
seat of political power was always beyond the knowing of the common people. The local autonomous social unit, called
samaaj was always present there to take care of their economic needs, and to protect them from state interference.
This basic structure of Indian society, the samaaj, was pulled out by the British who brought in its place the “state'
structure. The state in turn brought everybody under its thumb; added to this the colonial policy of divide and rule
further frustrated any attempt at a united opposition to such a type of rule. In the first decade of the twentieth
century, Tagore observed: "In the evolving history of India, the principle at work is not the ultimate glorification of the
Hindu, or any other race. In India, the history of humanity is seeking to elaborate a special ideal, to give to perfection a
special form, from which entire humanity will gain. Nothing less than this is its end and aim."

Question 159

In his essay. Svadeshee Samaaj. what focal point does Tagore intend to convey to the readers?

A He wants to eliminate the drawbacks of Indian society.
B He offers strategies of how to uproot or end the colonial British rule.
C He offers the societal structure that would benefit le 3 the entire humanity.

D He offers a structure that would improve the economic status of the entire humanity.

Answer: C

Question 160

What method did Tagore suggest for the reorganization of Indian society?

A through political power.
B on the basis of helping the humanity.
C on the basis of self-help.

D through industrial development.

Answer: C

Question 161

what basis did Tagore prepare a draft to establish the course of Indian society?

A on his visionary political ideals.
B on the principle of secular values.
C on the principle of democratic values.

D on man power and resources.

Answer: C

Question 162

What according to Tagore in his vision was not recognized as the core of Indian society?

A Man power

B Politics



C Democratic values

D Autonomous state

Answer: B

Question 163
Why did the British established the 'state’ structure?

A to provide a better social structure
B to establish their supremacy and strengthen colonial rule.
C to develop multiple sources of income

D to improve transparency in Indian society.

Answer: B

Instructions
For the following questions answer them individually

Question 164

Select the correct direct form of the given sentence.
The father said that he would not allow anyone to watch movies during examinations.

A The father said, "l will not allow everyone to watch movies during examinations
B The father said, "He will not allow anyone to watch movies during examinations"
C The father said, "Nobody will be watching movies during examinations"

D The father said, "I will not allow anyone to watch movies during examinations"

Answer: D

Question 165

Select the correct indirect form of the given sentence.
Rohit said, "He is joining the new job today."

A Rohit said that he was joining the new job today.
B Rohit decided to join the new job tomorrow.
C Rohit said that he was joining the new job that day.

D Rohit decided to join the new job yesterday.

Answer: C

Question 166

Select the most appropriate meaning of the underlined idiom in the given sentence.
After that road accident. in which Nilam was severely injured, everybody believed that she was on her

last legs.



A happy and joyous
B near to death
C sad and any about life

D anxious about other people
Answer: B

Question 167

Select the most appropriate option to fill in the blanks.

To ...... yourself from cold wear warm clothes.
A protect
B defend
C shelter
D prohibit
Answer: A

Question 168

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
The more you work, the better reward you will get.

A No improvement
B More the work you
C More you work

D you work more

Answer: A

Question 169

Select the correct indirect form of the aiven sentence.
"What about going on a drive," he said. "we have a car."

A He begged to ao on a drive as they had a car.
B He asked me what about going on a drive as we have a car.
C He suggested going on a drive as they had a car.

D He insisted on going on a drive as they had a car.

Answer: C



Question 170

Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
A. Just as | was about to sleep, | heard a low humming sound.

B. As they landed their lights went off.

C. | looked out of my bedroom window

D. | saw a number of objects coming down from the sky.

A ACDB

B ABCD

C ABDC

D ADBC
Answer: A

Instructions

Read the following passage and answer the questions.

Passage:

Archaeologists study human prehistory and history, from the development of the first stone tools at Lomekwi, eastern
Africa, 3.3 million years ago up until recent decades. Archaeology as a field is distinct from the discipline of
paleontology, the study of fossil remains. Archaeology is particularly important for learning about prehistoric societies,
for whom there may be no written records to study. Prehistory includes over 99% of the human past, from the
Paleolithic until the advent of literacy in societies across the world. Archaeology has various goals, which range from
understanding culture history to reconstructing past life, ways to documenting and explaining changes in human
societies through time. The discipline involves surveying, excavation and eventually analysis of data collected to learn
more about the past ... Archaeology developed out of antiquarianism in Europe during the 19th century, and has since
become a discipline practiced across the world. Since its early development, various specific sub-disciplines of
archaeology have developed, including maritime archaeology, feminist archaeology and archaeoastronomy, and
numerous different scientific techniques have been developed to aid archaeological investigation. Nonetheless, today,
archaeologists face many problems, such as dealing with pseudoarchaeology, the looting of artifacts, a lack of public
interest, and opposition to the excavation of human remains.

Question 171

The purpose of Archaeological studies is different from paleontology, which mainly deals with ...........

A Fossil remains
B Stone tools
C Prehistory

D Ancient societies

Answer: A

Question 172

Where does the centre of learning of Archaeology studies lie in?

A Pre-modern societies
B Primitive societies

C Contemporary societies



D Modern societies

Answer: B

Question 173

Which one of the following options suggests the goal of Archaeological studies?

A Understanding 21st century art
B Documentation of contemporary culture

C Study of fossil remains
D Reconstruction of the ways of life of the past

Answer: D

Question 174

Which is one of the sub-disciplines of Archaeology ?

A Feminism
B History
C Maritime Archaeology

D Astronomy

Answer: C

Question 175

What problem do the Archaeologists face during investigations?

A Resistance to excavation activities
B Financial burden
C Lack of political support

D Theft of personal belongings

Answer: A

Instructions
For the following questions answer them individually

Question 176

Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
A. Everything went well for the first ten miles

B. The brakes did not work.

C. And then the trouble started.

D. Then | came to a steep hill.

A ACBD

B ADCB



C ADBC

D ABDC

Answer: B

Question 177

............. explanations help students learn things in a better way.

A Lucid
B Accurate
C Bright

D Transparent

Answer: A

Question 178

What is an antonym of the word

'morbid'

A Lovely

B Healthy

C Liberal

D Cheerful
Answer: D

Question 179

Select the correct indirect form of the riven sentence.
He said to my brother, "Let us go to the seashore for a change"

A He succested to my brother that let us go to the seashore for a chance.
B He suggested to my brother that we should go to the seashore for a change.
C He suggested to my brother that they should go to the seashore for a change.

D He supested to my brother that let them go to the seashore for a change.

Answer: C

Question 180

Given below are four sentences, three of which, are jumbled. Pick the option that gives the comet order.
A. Kirit and Dhnw were small boys.

B. So they often ran into trouble.

C. They were neighbours and went to the same school.

D. On their way to school, they did all the things that naughty boys do.



A ADBC

B ABCD

C ACBD

D ACDB
Answer: D

Question 181

Select the most appropriate meaning of the underlined idiom in the given sentence.
His reckless behavior forced me to give him a piece of my mind

A toscold

B to encourage

C toforgive
D toinsult
Answer: A

Question 182

Select the correct active form of the given sentence.
They believed that he lied.

A He believed to have been lied.
B We believe that he lied.
C It was believed that they lied.

D He was believed to have lied.

Answer: D

Question 183

Select the most appropriate option to fill in the blanks.

When Neha saw me comine to her table, she smiled and ........ me a chair.
A offered

B pushed

C handed

D signalled

Answer: A



Question 184

Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
A. The other clay | asked you the best way to travel from Chennai to Bangalore.

B. You advised me to take the double decker train.

C. Now let me tell what happened.

D. | took your advice.

A ABDC

B ACBD

C ADBC

D aABCD
Answer: A

Question 185

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
I met a truly beautiful lady. who | believe to be an artist.

A who | believe is to be
B who |l believe is
C which | believe is

D No improvement

Answer: B

Question 186

Identify the segment in the sentence which contains the grammatical error.
The Himalayas. the highest mountain range in the world, protects India from the cold winds blowing from
central Asia.

A the cold
B blowing from central Asia.
C protects India

D highest mountain range

Answer: C
Question 187

Within two years, | will have successfully cleared CAT ........

A examination
B trial

C quiz



assessment
D

Answer: A

Question 188

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select 'No improvement".
Rakesh and Mahesh comes to mine house every Sunday for lunch.

A No improvement
B came to mine house

C coming to my house
D come to my house

Answer: D

Question 189

What is an antonym of the word
'quiescent’

A Active
B Dormant
C Responsive

D Quiet

Answer: A

Question 190

Select the correct active form of the given sentence.
The government will know the outcome of the policy of demonetization after two years.

A The policy of demonetization will have a known outcome after two years.
B The outcome will be known of the policy of demonetization after two years.
C The outcome of the policy of demonetization will be known after two years by the Government.

D After two years, the government will know the outcome of the policy of demonetization.

Answer: C

Question 191

Select the most appropriate synonym of the word 'Revamp’.

A Repeat
B Retreat

C Restructure



D Retrial

Answer: C

Question 192

Select the most appropriate meaning of the underlined idiom in the given sentence.
Imran wanted to be a wild life photographer, but his father was dead set against the idea.

A supported

B stronaly believed in

C appreciated

D disapproved

Answer: D

Question 193

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
Very few books are read as much as Harry Potter by the children all over the world.

A so much so
B as more as
C the most

D No improvement

Answer: D

Question 194

Select the Correct active form of the given sentence.
Those who work hard always achieve success in life.

A Success in life was always achieved by those who work hard.
B Always had success in life been achieved by those who work hard.
C Success in life were always being achieved by those who work hard.

D Success in life is always achieved by those who work hard.

Answer: D

Question 195

Select the correct indirect form of the given sentence.
"You must work hard to succeed in your new venture", said the mother to her son.

A The mother ordered her son to work hard to succeed in his new venture.



B The mother requested her son to work hard to succeed in his new venture.

C The mother pleaded her son to work hard to succeed in his new venture.

D The mother advised her son to work hard to succeed in his new venture. .

Answer: D

Question 196

Identify the segment in the sentence which contains the grammatical error.
In my dream. | saw vivid images of ghostly human figures, who were quite unusual as they imbued the
quality of eeriness and they did not have any resemblance with living people.

A o they imbued

B who were quite unusual
C did not have

D | saw vivid images

Answer: B

Question 197

Identify the setnent in the sentence which contains the grammatical error.
A few years back. | used to have complaints regarding the night shifts but now | am used to work in
nights.

A | used to have
B work in nights
C A few years back

D regarding

Answer: B

Question 198

Identify the segment in the sentence which contains the 2rammatical error.
It was him who was responsible for this mishap that took place yesterday.

A for this mishap
B It was him
C that took place

D who was responsible

Answer: B

Question 199

Select the correct passive form of the aiven sentence.
My mother makes cookies every Saturday.



A Cookies are made by my mother every Saturday.
B Cookies were made by my mother every Saturday.
C Every Saturday cookies made by my mother

D Cookies make my mother every Saturday.

Answer: A

Question 200

Select the alternative that will improve the underlined part of the sentence in case there is no
improvement select "No improvement".
You never let me finish my work, didn't you?

A did you?
B doyou?
C No improvement

D doesn't you?

Answer: B



